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Scoring rules for the Drug and Alcohol version of the IP
Please note, when administering the IP, best guesses are preferred over “don’t knows.”  “Don’t knows” can be coded in: drinking status, drinking frequency, drug use status, drug use frequency, reaction to drug use, and support for treatmentt.  These are treated as missing data.  If a network member has missing data for one of two variables used to calculate a product, the product is treated as missing data as well.
Question topics (see instrument for exact content):

1) name





7) drinking frequency

2) relationship




8) reaction to drinking
3) amount of contact



9) drug use status
4) importance




10) drug use frequency
5) general support



11) reaction to drug use
6) drinking status



12) support for treatment

Index 1. Network Size
The square root of (the number of people with any rating on question 9, including 8’s).  Then convert to a z-score based on the mean and SD of the sample at baseline.
Index 2. Daily Network Size
Count the number of people that the person has daily (rated 7) contact with.  Then convert to a z-score based on the mean and SD of the sample at baseline.

Index 3. Importance of 4 Most Important People
The ratings from question 4 are ranked and the four highest values are averaged.  Then convert to a z-score based on the mean and SD of the sample at baseline.

Component 1. Network Substance Involvement

This component consists of drinking status, drinking frequency, drug use status, and drug use frequency of the network members.
C.1.A.  Drinking status of network members: 
To compute this index, a revised drinking status code is created:

OLD:



NEW:


5
heavy drinker

3

4
moderate drinker
2

3
light drinker

1

2
abstainer

0

1
recovering alcoholic
0

8
don’t know

8

For each network member, the new drinking status code is multiplied by the amount of contact (ranges from 1 to 7).  If the drinking status is 8, then the product is not computed for that person.  These products are then summed across the network members, and this sum is divided by the number of people that products were actually computed for.  We will call this VAR01.  VAR02 is the number of people in the network with a drinking status (even if it is an 8). 

C.1.A = VAR01 X VAR02
Then convert to a z-score based on the mean and SD of the sample at baseline.

C.1.B. Frequency with which network members drink
For each person with contact from 1 to 7, and drinking frequency from 0 to 7, compute the product of contact and drinking frequency.  (If the drinking frequency equals 8, then this product is not computed).  Sum these products to get VAR03.  Divide VAR03 by the number of people products were actually computed for to get VAR04.  Divide VAR04 by 49 (7 x 7) to get VAR05.  Multiply VAR05 by the number of people with any drinking frequency (even 8’s) and convert to a z-score to get C.1.B.

C.1.C.  Drug use status of network members: 
To compute this index, a revised drug use status code is created:

OLD:



NEW:


5
heavy drug user

3

4
moderate drug user
2

3
light drug user

1

2
abstainer

0

1
recovering drug user
0

8
don’t know

8

For each network member, the new drug use status code is multiplied by the amount of contact (ranges from 1 to 7).  If the drug use status is 8, then the product is not computed for that person.  These products are then summed across the network members, and this sum is divided by the number of people that products were actually computed for.  We will call this VAR06.  VAR07 is the number of people in the network with a drug use status (even if it is an 8). 

C.1.C = VAR06 X VAR07 
Then convert to a z-score based on the mean and SD of the sample at baseline.

C.1.D. Frequency with which network members use drugs
For each person with contact from 1 to 7, and drug use frequency from 0 to 7, compute the product of contact and drug use frequency.  (If the drug use frequency equals 8, then this product is not computed).  Sum these products to get VAR08.  Divide VAR08 by the number of people products were actually computed for to get VAR09.  Divide VAR09 by 49 (7 x 7) to get VAR10.  Multiply VAR10 by the number of people with any drinking frequency (even 8’s) and convert to a z-score to get C.1.D.

To calculate Component 1, sum the four z-scores C.1.A through C.1.D., and then convert to a z-score.
Component 2. General/Treatment Support
For component 2 and 3 an equivalent to the four most important people listed needs to be determined.   When there are four or fewer people listed on the IPDA, this becomes very easy.  It is just those people listed whether it be 1, 2, 3, or 4 people.  When there are 5 or more, then the 4 or more most important people are identified using the ratings from question 4.
For example, if 5 people are listed “importance” ratings of 6, 5, 4, 3, and 2 then the top four people would be used.  If the ratings are 6, 5, 4, 2, and 2, then the top five people would be used.  In rare instances 12 people would be used (the lowest eight ratings are identical).  This subset of people named on the IPDA will be referred to as the “most important people.”

C.2.A  The most general support among the most important people
The maximum rating across the most important people on question 5.  This is converted to a Z-score.

C.2.B. The least general support among the most important people 

The minimum rating across the most important people on question 5.  This is converted to a Z-score.

C.2.C. The average general support among the most important people

Create a new variable for question 5 (general support)
OLD:

         NEW

6
extremely
4




5
very

3
4
supportive
2


3
somewhat
1
2
not very
0

1
not at all
0
Create a new variable for question 4 (importance)
OLD


NEW

6
extremely
5

5
very 

4

4
important
3


3        somewhat
2

2 
not very
1

1 not at all
0

Now, for each person identified as among “the most important people” compute the products after conducting the recodes detailed above.  Average these products, and then convert to a z-score.

C.2.D  The most support for treatment among the most important people
The maximum rating across the most important people on question 12.  This is converted to a Z-score.

C.2.E. The least support for treatment among the most important people 

The minimum rating across the most important people on question 12.  This is converted to a Z-score.

C.2.F. The average support for treatment among the most important people

Create a new variable for question 12 (support for treatment)

OLD:

         
           NEW

6
strongly supports
2




5
supports

1
4
neutral 


0


3
mixed


0
2
opposes


0

1
strongly opposes
0

8
doesn’t know

8
Now, for each person among “the most important people” with valid values for this variable, multiply this new variable with the recode for question 4 from C.2.C.  If a person has an 8 question 12, do not multiply his/her ratings together.  Average these products together (divide the total by the number of valid products) to get VAR11.  Convert to a Z-score to get C.2.F.

To calculate Component 2, sum the six z-scores C.2.A through C.2.F., and then convert to a z-score.

Component 3. Network Support for Substance Use
C.3.A.  Most support for drinking among most important people

The maximum rating across the most important people on question 8 (8’s don’t count.)  This is converted to a z-score.

C.3.B. Average support for drinking among most important people

Create a new variable for Reacted to Drinking (question 8)

OLD:


         NEW

5
encouraged

2




4
accepted

1

3
neutral


0


2
didn’t accept

0

1
left, made u leave
0

8
don’t know

8

Now, for each person among “the most important people” with valid values for this variable, multiply this new variable with the recode for question 4 from C.2.C.  If a person has an 8 question 8, do not multiply his/her ratings together.  Average these products together (divide the total by the number of valid products) to get VAR12.  Convert to a Z-score to get C.3.B.

C.3.C.  Most support for drug use among most important people

The maximum rating across the most important people on question 11 (8’s don’t count.)  This is converted to a z-score.

C.3.D. Average support for drug use among most important people

Create a new variable for Reacted to Drug Use (question 11)

OLD:


         NEW

5
encouraged

2




4
accepted

1

3
neutral


0


2
didn’t accept

0

1
left, made u leave
0

8
don’t know

8

Now, for each person among “the most important people” with valid values for this variable, multiply this new variable with the recode for question 4 from C.2.C.  If a person has an 8 question 11, do not multiply his/her ratings together.  Average these products together (divide the total by the number of valid products) to get VAR13.  Convert to a Z-score to get C.3.D.

To calculate Component 3, sum the four z-scores C.3.A through C.3.D., and then convert to a z-score.
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